
10

9

14

3 1

12

11

16

15

7

18

17

2

4

4

6

5

5

13

3

8

8

7
7

8

ITEM NO. PART NUMBER QTY.
1 reversing lever stand 1
2 10092-E reverser quadrant 1
3 10093-B reverser quadrant spacer 2
4 10400-C motion pin 20mm 2
5 M4 nyloc nut 4
6 10521-A motion pin 15mm 2
7 M6x25 bolt 3
8 M6 nyloc nut 4
9 reversing lever 1
10 10120-E reversing lever trigger 1
11 10486-B reversing lever trigger link 1
12 10087-E reverser latch lifting link 2
13 10088-F lever latch 1
14 reverser spring LCM080C 15 M 1
15 10591-A reverser lever bush 1
16 M6x20 bolt 1
17 10436-B reach rod bush 1
18 M6 washer 1

20150 4 inch scale
reversing lever & stand

WEIGHT: 

A3

SHEET 1 OF 1SCALE:1:5

DWG NO.

TITLE:

REVISIONDO NOT SCALE DRAWING

MATERIAL:

DATESIGNATURENAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

Q.A

MFG

APPV'D

CHK'D

DRAWN

station road steam


	Sheet1
	Drawing View1


